Question Paper Title : TI_19

Date of Exam : 16-07-2019 10:00 AM

Reference 1D:(13017) Choose the correct form of modal auxiliary verb for the given sentence:

Internet provide information on any topic with the click of a mouse.

A.ought to
B.can
C.may

D.should

Answer: B.can

Reference ID:(13028)  fadiedn yafaite! avg fawgrdf wsg areard He arag quf &,
---------- e fadiat @auTolt grae a<t ot i SIUR ATg.

A.DHREATE
B.ATdih

C. YRl
D. BRI

Answer: B.ATUIR

Reference 1D:(13020) Choose the correct conjunction for the given sentence:

Though there was little evidence against him, he was convicted.

A.so
B.besides
C.yet

D.after

Answer: C.yet
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Reference 1D:(13010)

Answer:

Reference 1D:(13031)

Answer:

Reference 1D:(13254)

Answer:

Reference 1D:(13298)

Choose the option with the appropriate prefix to complete the given
sentence:

The validity of your passport has expired and therefore is ___ valid now.

A.post-
B.mis-
C.un-

D.in-

D.in-

pr St ag Teg 1R SIS RTeg Ul AR,

ATS
B.I®R
CHIS

D.HIT

CHS

ST TS 1T et HATGR 27 TgdR! 2019 oh HI0TT I S
HARITUATHTS! Ufgel sfamg foidba?

A TERTE
B.TSRId

C. SR U
D. 1] T

AFERTY

Uh GHIER 12.5% YC 43 17,940 SGIHT SIg] Hareil fasht bl Sfor
TN 5% BT BIdl. SR DIUIIe! Ye fadll ATl R AT TR Tqhar] Ha
3 d?

A.20%

B.25%
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D.15%

Answer: A.20%

Reference ID:(13047)  Uald ald drTdiel favmferg 3o,

A TR
B.Uyfag
C.3eRf=

D.guifaR™

Answer: D.Wﬁéw

Reference ID:(13027) U3 STRIdId TeTdTg=l e PHIUCT?

AT
B. ORI

Answer: D.H’ﬁ?{

Reference ID:(13262)  HRdT e Siord Ry Isa for g 2y ue=ni=r g guasdd

ST 9Ty BTl d?

AT
B.UfRA

C.agla
D.grdd

Answer: A.Eﬁa
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Reference 1D:(13019) Choose the appropriate prepositional phrase for the given sentence:

The problem was solved a new device developed by our team.

A.at the dint of
B.by reason of
C.by means of

D.for fear of

Answer: C.by means of

Reference 1D:(13284) TR PTal.
22,71,68,78,90 & 25

A.59
B.98
C.68

D.78

Answer: A.59

Reference ID:(13268)  HERIFT Il SrAIel HaTd GodTcial ASlaRT WTcTeeh! HIOT gIdT?

INCINEUSER

B.Ucdd Ioldl

C.Tddrg IoTdy]

D.IT¥EHC STa

Answer: C.qTddrg IoTd e

Reference 1D:(13043) TTeTd - SUIRT Teg,. 3Hisl.

TToR, TyART, Ui, uRig

ATt

B.UYHT
c.ud=
D.URIS
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Answer:

Reference 1D:(13030)

Answer:

Reference 1D:(13026)

Answer:

Reference 1D:(13282)

Answer:

Reference 1D:(13261)

D.URIG

e Teg T Ve 35T,

A ifaarst
B.7I&/hUT

C Hlarmal
D.§3GHD

B.TYH U

Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

We want to replace the rule of a king or queen with self-rule.

A.Democracy
B.Despotism
C.Monarchy

D.Plutocracy

C.Monarchy

Rfdedps sRaced URMHYT 75% aHH T hedHq [dadhs 750 T
fRreeies Rfgd. I=dIGia a2 e 3l Xahd HIal?

A.1500 ¥TT
B.7500 3T
C.1000 ¥Ud
D.3000 343

D.3000 ST

YR STTOT Urfehea™ 7 FH1 WgR fae T e 3ied.

AHSHHET

B.W
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C.g
D.dfeiTe

Answer: B.XSfda®

Reference 1D:(13002) Choose the option that has the correct spelling.

A.Comitment
B.Comitmment
C.Commitment

D.Cometmant

Answer: C.Commitment

Reference ID:(13036)  RepTel SIFH Y Tsg sl
3, ILWAWR, A9y, [AYTTTR § ----mmmmmee Hedh 3.

A TTRIYYFHRUMY
B RTeqi=T ST
C.3ABR
D.gur

Answer: A dTERIgYGHRUIT

Reference ID:(13296) 3460 30T 9380 AT HRTHAR 3IshH 9 30T 13 T GUMRT Fald A3t T
HIeT?

A.3451 3101 9637
B.3541 3101 9367
C.3551 3101 9667

D.3451 3101 9367

Answer: D.3451 3101 9367
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Reference 1D:(13005)

Answer:

Reference 1D:(13021)

Answer:

Reference ID:(13275)

Answer:

Choose the appropriate option with the correct punctuation marks for the
given sentence:

Wow france won the Football cup this year

A.Wow, France won the football world cup this year
B.Wow france! won the Foot Ball cup this year.
C.Wow! France won the Football cup this year.

D.Wow the France won the football cup this year?

C.Wow! France won the Football cup this year.

Choose the appropriate conjunction for the given sentence:

He seeks his mother 's permission __ he does anything important.
A.after

B.unless

C.as soon as

D.before

D.before

=1 HedH T a1 T dedt UTfg el Silg, Qb

A gEHCRIHTA
B. gxaxif
C.ufRa=f
D.RAvuexi®

B. gRaxff
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Reference 1D:(13253)

Answer:

Reference 1D:(13018)

Answer:

Reference 1D:(13011)

Answer:

Reference 1D:(13023)

Ty, e ARV T HI0TAT &ATHE 2019 T U1 YU RIBGR GUATd STl
gIar?

A TS 3nfor Sfftifet-araenTsr
B.STUR 3110 SENT-=H
C.fafdean Fafas

D. g 3TfoT fRraror

Afagm 3nfor it ifet-sradTr

Choose the appropriate prepositions for the given sentence:

Results a new clinical trial has shown a new radiotherapy technique
can treat cancer patients just five sessions instead of the typical 37.
A.of ... on

B.off ... In

C.for...on

D.from ...in

D.from ...in

Choose the option with the appropriate prefix to complete the given
sentence:

During the mid 1800’s many people joined the slavery movement.

A.ante-
B.pre-
C.anti-

D.de-

C.anti-

Choose the correct form of verb that is in agreement with the subject:

The members of the jury divided in their opinions.

A.are
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C.has been

D.is

Answer: A.are

Reference ID:(13287) 42§ 210 7T fohlt cadh 3Teal?

A15 %
B.20 %
C.22%

D.25 %

Answer: B.20 %

Reference ID:(13049)  PHUIEST AT XeaId il SITSTER 3T TR?

A2
B.3
C.1

D.4

Answer: C.1

Reference ID:(13272) 2019 A, ferrad uezmen AfHdi=ar wRom 31+e 1ot Sqariied 72 a
IREIESAES RISl TTSRT HIUGT 3T,

A.15 T
B.16 T
C.17 TUd
D.20 T

Answer: A.15 E@FI

Reference ID:(13290) 200 fagmaf fireacd TRIERT T[0T 125 3MTgd. IR THUT T[0T favdi! o HIar.

A.12500
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Answer:

B.2500

C.25000

D.125000

C.25000

Reference ID:(13264)  ®aid g HHIUT TN WG UHRUI HAHSBIGR fG0ied Was TaA&Ul TRIHR

Answer:

2019 IR HERIFTS JTH TR HRURT I AT
YUNHIOMHEN UT} fraaTet,

A.Tfgait

B.g&R1
c.fawd
D2t

c.faadt

Reference ID:(13050)  JaId ATuRIRITAT A1 SfTd Ui e,

Answer:

TTeTd URUS Fieo -

AHIS T gRIqul
B.HI e Ul
C. 7 SeTegR] Areor

D HiSRT=T TTedTd ge] dieo)

C. 7! SeTeeR) Ao

Reference ID:(13039) AR 0T U4 fAaEH TMescled SR HRT .

Answer:

......... ¢t DIfiaR! BT,
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Reference ID:(13041)  Jeld dledTdidl SodTal YhR SIS,
@1 W JTSTd 99 FebT dl FoAger

A YT 3y
B.RTecUN 3o

C foparfarivur sreqy
D.haaydt e

Answer: D Haduarft 3oy

Reference ID:(13266) 27 HTd, 2019 SH dfg-e HIRA A0 HIURMAT ge™ REIGIN]
HTHER IR (TH3MY) HOR e,

A fRregor
B.Sifd® 3

C IArRAP It

D.gde

Answer: D.tl'd?:[

Reference ID:(13259) UMl 2019 U fhthT (BheX=M 3 SRR Bedid SIRITRM) =1
FHGHR! A e TUH WIedde! HIvT ufted YR fHas
HUGTA HTCI?
A g w3
B.U%d Ued
C.RRG YaR

D. ST Yfaar

Answer: B.U%d Ucd

Reference ID:(13271) 1668 W&, 3% 3fSaT HU-- ST g and HTSTUSIER o,

A TR GIRT
B.USds Urddl
C Sifsl ufga
D.faeqw gaRT
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Answer: A.Tvﬂﬁ‘:f gHR]

Reference 1D:(13016) Which of the following options best combines the two given sentences?

| did not revise my answers. | missed scoring a hundred.

A.l did not revise my answers but | missed scoring a hundred.
B.l did not revise my answers although | missed scoring a hundred.
C.l did not revise my answers, so | missed scoring a hundred.

D.Though I did not revise my answers, | missed scoring a hundred.

Answer: C.1 did not revise my answers, so | missed scoring a hundred.

Reference ID:(13292)  &Tdl fadiedn @ el il T ARy o d faaidr 3118, ATER Jobiar hd
3l

47,44, 45, 46, 33, 57, 3, 88

A.44
B.57
C.46

D.3

Answer: B.57

Reference ID:(13258)  Ud W& =g HIa! IiH! @l Ef$a1 AeRd i fowt
STl HIUT HRUGTS] FRe e,

A.des AT dgel
B.AIdh1
C.udlen

D. W4

Answer: A.Xdos ATfOT dg%\«‘lﬁl
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Reference 1D:(13281)

Answer:

Reference 1D:(13037)

Answer:

Reference 1D:(13265)

Answer:

Reference 1D:(13013)

Teh! ST 5 Uiex 3f0T 15 fiaes g 3ied. d 9ivTel e Tier Sifor
el dull T dg dledl Tidl. fUdeT dg Heuar! duredr Srer?

A.3/4

B.4/3

C.5/4

D.4/5

A.3/4

TR TS T g BT Ul T SReTd Sies.

A RATd
B.UYH dRAHATd
C.&-31eATd

D.fegdig-araard

C.&-31eATd

TR el REBR faoidht rar fgdr &)

Y YA &l T YRdT

Choose the appropriate articles to complete the given sentence:

We reached our destination for __ day,

A.the, no article, the
B.the, a, the
C.the, a, no article

D.a, the, the

small town in Odisha.
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Answer: C.the, a, no article

Reference ID:(13044)  Ydld areigdie fa=Ivor siesar.
fIRIUT e IUNHR BIdTd, ATl 31T 12

AHTEId

B.3UUDR

C.OH®
D.fa=wor

Answer: C.Yshod

Reference 1D:(14347) S @l feerer g Tieia ThATET ITeeIied i IdIe, OX @IeiddshT HIvTdaT U [Ged
TIR giser?

AN AR
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Answer:

Reference 1D:(25013)

Answer:

Reference 1D:(13042)

Answer:

Reference 1D:(13035%5)

Answer:

U HR 80 fHHY/A AT urad 3mg. Hiex Ufd YdbeiAe) HRAT AT S 3?2

AdRAR

Yeid ared dreH IRy T il

A SR 37 Urded.
B. 1 SVRMYA 3TH Uradl.
C. 4] SITRMYA 3 Urae.
D A4l SIRTAYA 379 Ulad.

https://wwowWEsHRIsEEWTONREVious-year-question-papers/



Reference ID:(13278)  SRAYDHIRT IO AR =41 9T UNR 3IehH 5:3 3Tg. =l 9l UMDHR
540 31Tg. 20 TR AT a1 ONTR B 3A?

A.7:6
B.25:19
C.23:18

D.21:28

Answer: B.25:19

Reference ID:(13285)  fadiedn IR yafaite! ge foaienr gwmeft 7 JuIRT U=l HIvrdr 3g?

Josef Fuhrgescht Kohlen
Im Muhlenbruch 6,
Georgsmarienhutte, 49124

(i) Josef Fuhrgescht Kohlen
Im Muhlenbruch 6,
Georgsmarienhutte, 46124

(i) Josef Fuhrgescht Kohlen
Im Muhlenbruch 6,
Georgsmarienhutte, 49124

(iii) Josef Fuhrgescht Kohlen
Im Muhlenbruch 6,
Georgsmarienhutte, 49124

(iv) Josef Fuhrgescht Kohlen
Im Muhlenbruch 6,
Georgsmarienhutte, 49124

B.ii
C.iii

D.iv

Answer: A.i

Reference ID:(13293) 10 AI@&R 1581 ISl HIUKT Gy BIaT?
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AFHTBAR
B.gYdR
CIFaR
D.Y[haR

Answer: A HITSdR

Reference ID:(13038) 1 ggfamt fds &,

Answer: Aﬁf%?ﬂﬁ

Reference ID:(13297) 852 3ff01 1491 o1 . 91.91. HTal.

A.5694
B.5469
C.5649

D.5964

Answer: D.5964

Reference 1D:(13033) gcsnlm T UhR 3Nl

A Tgreff

B.F8 It
C. GG a1’
D.%dd aIdg

Answer: D.%ad aId
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Reference 1D:(13008)

Answer:

Reference 1D:(13277)

Answer:

Reference 1D:(13274)

Answer:

Reference 1D:(13295)

Fill in the blank with the correct noun for the given sentence:

Chocolate has a well-deserved for improving mood and feeding the
brain.

A.reputations
B.reputable
C.repute

D.reputation

D.reputation

eufa SfO1 RAR=AT g UNRR 3 5: 7 3Tg. HiedT auiydl iedT qaid
ORI 3: 5 3R id. TR IaqH 99___ 318,

A.30 a4

B.35 AN

C.56 I

D.45 qY

C.56 a§

11 U0 IR d 19 | Tdd=1 2019 YR WaH® Hasu@aed
AHHUT FHIAY B,

A17 T
B.18 ¥
C.167

D.217

A17 T

e SNt A et fag §aar guf &
9, 11, 20, 31, 51, 82,

A.133
B.142

C.156
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Answer:

Reference 1D:(13263)

Answer:

Reference 1D:(13276)

Answer:

Reference 1D:(13256)

Answer:

D.164

A.133

ST WIS AT § HY ATy fahdT 3R U o]
AR fadifad Tevor 3= Wifdies T fdsar amarerare gxdaidid ®udrT
TG G THA?

A SESRIY
B.HSHY

C gfeg »Idy
D& dRe

A TFERRY

IRRWER T HHRAYeS IA& BIdl.

1 ThglaRt 2019 ot YR ROl sl HIUTT 1 Sdbiakid SIdR! Hafal
HH! e 3T T Qoiut! GIRd GURUTES Hel (URITT) SIRRESIHLY S1eR
USUaTdt WA fgeit?

A D 3T 3T (SH3Nem), I 3T HERTY (SSHITH) il USTe 2 a9
(dieai)

B.d% 3Hith SfSar (hefeim), s it HERY (staied) M1for spued o
3T B (e

C.d& 3T e (Fiafem), sy d@ (TUASEN) AT 3iku<d d& 3HH
HIY (3T

D.d9% 3t 3f&a (dlsfismy), 9o 3iTth HERTY (SefITH) it ekl dob (Salh)

B.d 3H1th SfSar (Mefiem), s it HERTY (shaiied) Mfir siued db
3AHF B (3
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Reference 1D:(13009) Choose the appropriate collective noun to complete the sentence:

gathered at the scene of the accident.

A.A gang of crooks
B.A crowd of onlookers
C.Amob

D.A bunch of miscreants

Answer: B.A crowd of onlookers

Reference ID:(13048)  fgaial faveia sMedaH! Udd HIU?

AY &l d
B.g, @Al d
C.3 1,

D4, S, 3

Answer: B. 9, oI, I, d

Reference ID:(13255) 7 HId 2019 XSil, HERTY XM AL I Sfal-d axHe IR quiid
3 RAVIITS! AT SiefhTH TORIETS! HIUrd! fa=Iy o1 = dheil?

A.3Cd TBR AIHT

B.4H¢d SId 1ol
C.3[cd YHed Il

D.4Hcd 3R o]

Answer: A3 3MMER I T

Reference ID:(13279)  wTal faaiel Aifgc wTesiigdes arar 3fdr feeiedr Uy IR .
L, M, N, P, Q, R, S, 3101 T § 3{T& kil HEUTT dle Hr MAThR
CATHIGd! S $MTed. Q BT P 3101 R 91 ASIRY ATE1. M 8T T =1 SldidhgA
GERT 3MTg STIOT P =T ISidlh g foERT T8, R 8T N AT Sldidh g e 3iTg,
Sl T =01 e Sldidbs 3le. L 81 P =1 Suldie g Gl 3Te.
TTeiade! ST FHTu0 9 3g?

AR BT D P =07 Iuldid s 37Tg.
B.Q B T<d L =T Ioididhs 3iTg.
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Answer:

Reference 1D:(13267)

Answer:

Reference 1D:(13269)

Answer:

Reference ID:(13015)

Answer:

C.M BT N 301 Q =1 7Y 3118,
D.R BT P 3MfU S =1 AY 3MTg.

AR BT TH P =07 Iuldid s 3Tg.

TARNYD FHSIH! RITGAT HERIPT 1873 HL

A4Sl =G Ha
B.Riears quse
C.Safaer B

D e fead

C.ifas B

feqan sifaq wrva gie gwd Sira
ATTE derel!

B.qlS Bi-aTierd

C IS SagIit

DSIGRN

AT Jadt

gR el g,

Choose the most suitable determiner for the given sentence:

They had so success with so little.

A.much
B.few
C.many

D.most

A.much
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Reference ID:(13294) g+ faAT UiferRiiaR 23% YgHH T hall, 33% IaHH SIGUNER, 19% JgHH
HcTi=aT fRIGUMER STOT 16% I HARSHIER T dhail. A fRiewed fgerel!
504 ST YaHH dopHe STHT dhall. T 3 31101 [dAT Uiferilar TRy

UHU fohcll IqHH W hail?

A.3146 ¥TT
B.3126 3T
C.3136 304
D.3048 ¥UY

Answer: C.3136 34

Reference 1D:(13003) Choose the option that has the correct spelling for the missing word in the
given sentence:

snowfall will affect many areas.

A.Persistent
B.Persistant
C.Parsistent

D.Pursistent

Answer: A.Persistent

Reference 1D:(13022) Choose the most appropriate usage to fill in the blank in the given sentence:

Parents must try to their children’s expectations.

A.understand
B.understandable
C.understandably

D.understanding

Answer: A.understand

Reference ID:(13288)  5EQ + 2F8 + 3G7 = 1114 Ul facict YHidhrud F 9 S ged__ 3118, 91
E, F 30T G HIUrdTe! 3o Udid 3HTed.

A8
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Answer:

Reference 1D:(13014)

Answer:

Reference 1D:(13046)

Answer:

Reference 1D:(13280)

C7

D.5

B.9

. Choose the correct form of verb for the given sentence:

He to share the profits of the company.

A.dismay
B.agreed
C.undecide

D.made

B.agreed

Yaid IR el Iy o 3oy T,
RECITRIRICACR: L p— 3MTHTS ThICUl 31 TEUTCT A5,

ASYdT

B.ddd

C. U
D. IR

C.RUS

U] SIUGHY 4 Uig=T, 5 THIRN 31107 3 T8¢ fZRT TiedT 3iTed. SR
T ArEfRSHUTI 2 Tl Dlged], TR Glvel Ule=dl UG U 61
38 ?

A1
B.7/3
C.6/1

D.2/1
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Answer: A.1/11

Reference ID:(13251)  Jeid addTd GaRATId 3 dTeRER FHagl.

gIaIeTd I Alhi- hadd.

A BTdTeR 8Td &aul
B.UTITGR YRUT §01
C.SieATd Y5 Bl
D.S1q WTeiiaR gror

Answer: C.SleArd Yoo BHUl

Reference ID:(13260) 1960 auTHE Iy fAfHdiean dedt HERIFHH fabdll fores gld?

A.24
B.26
C.28

D.30

Answer: B.26

Reference 1D:(13291)  fabTom ATe fashaa™ 30 U Ul fovaiud 3for 32.5 Ufd fbaiiy gearn
diqesi= o UIRTEE fAgesTd, S AUt 34.10 ¥U3 Ufd fdbaiaa
faep! e T 10% BT fHesa?

A.5:2
B.4:5
C.3:8

D.3:2

Answer: C.3:8

Reference 1D:(13004) Choose the appropriate option with the correct punctuation marks for the
given sentence:
Youre a great speaker James so you might win the competition

hitps://wviw PSR EBFSSREPHRrdIMARs ) At AU YR (e samgetition



B.“You’re a great speaker James so you might, win the competition.”
C."You're a great speaker, James, so you might win the competition.”

D.“You're a great speaker, James so, you might win the competition.”

Answer: C.“You're a great speaker, James, so you might win the competition.”

Reference ID:(13032)  WToiid dIddTdid SRR Wsqid fofiT 3fesr.

A UaTH HI0I g Blall Herddrul died.

AT
B.Talfei

C. YD
D. YT

Answer: B.Eﬂﬁ‘m

Reference 1D:(14348) 4095
11655

BT AUl Wa@aTd ol e®d 37T8:

A.37/13
B.13/37
C.91/259

D.117/333

Answer: B.13/37

Reference ID:(13286)  Rapre Sl v St fAag Anferest quf &
5,9, 17, 29, , 65

A.45
B.40
C.50

D.42

Answer: A.45
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Reference 1D:(13012)

Answer:

Reference 1D:(13273)

Answer:

Reference 1D:(13283)

Answer:

Reference 1D:(13257)

Choose appropriate articles for the given sentence:

Many foreign leaders came to Delhi, capital of India
to watch Republic Day parade.

A.no article, the, no article, the
B.the, the, no article, the
C.a, the, no article, a

D.a, the, a, a

A.no article, the, no article, the

PV Thedidid AGa 98l URUIRS fSoid-faggd Uiged daR HRugre
UEATd Sadl ST STd3UTY eAT ST THIAT Ufchad aiedT Ih iU aaeid
IO SATUET SIdes U 50 Caaiig- Gyl 3¥dia?

AYd U 70-HRd
B.UhcU 75-HRd
CYhcU 17-HRd

D.Ud el 71-HIRd

B.Uh el 75-HRd

TR 80 U Uid fhert sl fash! et feairean Qact 960 U HHa,
for fopeht fopdin P g ot faent avedt?

A.14 ol

B.12 fapall

C.0.83 ol

D.18 fobel

B.12 fpat

HERTY IAUTHE HEFVRUTTCIeRT 3HTed.

A24
B.25

C.27
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Answer:

Reference 1D:(13034)

Answer:

Reference 1D:(13040)

Answer:

Reference 1D:(13029)

Answer:

Reference 1D:(13025)

D.28

C.27

qeiel aTeRITel UhR SHiesl.
HeT IroedTar ol HRTHR i e,

A gt
B.fry area
C.Tgd a1’
D.hdd AT

D.%dd a1

fediedT UTqd ‘Pea (ATYd) 9 el
Y70y

A.eTadl
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C.emad

D.YTadrd

B.YTddl-T

feeiedT YeaiTeTd [aoardl e i,
EEL [ [ F{ | —

AT

B.ddl

C.dldsdr

D.g%

C.Aldsdr

Choose the correct form of tense for the given sentence:

I up at 6 am every morning and for a walk.
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Answer:

Reference 1D:(13007)

Answer:

Reference 1D:(13024)

Answer:

Reference 1D:(13270)

Answer:

A.got, goes
B.get, go
C.got, went

D.get, went

B.get, go

Choose the correct form of adjective for the given sentence:

Mohan was choosing a new saree for his wife as his anniversary gift but
was unable to decide on which one of the two was

A.much beautiful
B.more than beautiful
C.more beautiful

D.the most beautiful

C.more beautiful

Identify the option which is NOT a compound sentence.

A.All that glitters is not gold.
B.I have got four sisters and each of them is quite different from the others.
C.You can either come with me now or walk home.

D.The house was destroyed in the fire, but the family was saved.

A.All that glitters is not gold.

TR IUSld HIRUY § HRATHT T eTtdp! DIl Isaraed fRIT 31g?

A TERTY
B.3W Uy
C.3ffy yex

D.ISTRTH

A TERTY
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Reference 1D:(13045)

Answer:

Reference 1D:(13006)

Answer:

Reference 1D:(13252)

Answer:

Reference 1D:(13289)

Choose the correct form of adjective for the given sentence:

The Blue Whale is known animal reaching a length of more than
one hundred feet.

A.the large
B.the larger
C.the largest

D.most larger

C.the largest

DIV IS Aol HasaR Heoll dhal?

A.1514
B.1524
C.1534

D.1544

C.1534

SR COLLEGE qT Yichfdd Yeg BNKKDFD 31T 9T SITd 3_d d)
SCHOOL dT {-Iiabl?lob e | d-4d] Ullscﬂ?

A.RDGNNK

B.TBGNNK

C.RBHNNK

https://ww%vsf?gswgﬁsnow.com/previous-year-question-papers/



Answer: D.RBGNNK
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